1.

36 —



ol

I

23 2 =

BS54 VB3<x<

2.

@ 7 3 9 @ 10 ® 15

D 5



3. U HIA Felee BF 9 A7

(171
B7

VO, V2 + V3, 029, Vi9.6, V8, V144

@D 170 @ 270 3 370 @ 470 3 571



A «/'+7\/' 2V3,B=8V6-9vV6-14v6 & Wi, A + B9
Z

%k

rlo H

-7V3 @ -7v6 ® -8V3+15v6
@ 6vV3-56 ® 843 -15vV6



5.

V5 €] 2% RS a2

@ 10a+ 10

@ 10a - 10

ke1g
=

], V500 2 a & AFR5te] YERE?

@ 10a +20 ® 10a
® 10a - 20



o_e

L

kel
=

o) A= a Bl

399 &

6.

® -4

O -12

® -39



@ 0 9] AlEZ2 0 H#oltt.

O =59 AlE22 1700l

© AEd2 Y Tl

® /(-81)? o] AlFZLL £9 otk
@ —va = -a 9 59 Audolth

=
=¥
YEE

=%



A

rlo

8. Ue3s&AY

52
fijo

L5

i

o},

@ a>0<g ™, \/(-3)2a% x Vda? = 6a>
© a<0 ¥, V2542 - \/(-6a)? = -
© a<0, b>0< o, VI00aZ - 5 V4b2 = 10(a - b)

@ a>0,b<0< 0,
V(@a)2 - \/(=b)2 - \/(6b)2 = 2a + b




9. V28—x 7} AAL7F HEE SH= A x 9] gho] ofd A
¥t

fle

=

D 3 ® 5 3 12 @ 19 B 27



® =

Vo= Apelgeolth

@ i AQZolt |

@ V12, —\/g \/. ~— 2 595
4\/1— Oj],— 0.1 =25 ct
= 2~ =1 )\O]

® 1= §ESE Falgn o |

G 1-
7= 2yl Zoltt



11.

ABCD & 235} 444 9
o % 7 P, Qo BgsHe
aho] L Fotolet.

YEE
=%




12. & J¥oA gABCD £t oEFGH 7 ZAFZYg o] AD = AP = AR
,EH=EQ=ES ¢ 9, A P, Q,R,S o H&5}= 4= vt24 &7
o A8 nE J2H9

G

B |~ \
D //\\ \ F
. 4 vy — |
2P 0 1Q R4 E 6 7 S

>
>

9

@ P(-V2) © Q(-V3)
R(1+ V5) ® S(5+ V10)

Do, 00,0 0,6 ®o,e 60,0



@ 3-V3<-V3 © 3-vV5>V5- 18
© -1>-5 ® Vi-Vi0<-3+ 7

@D 1 7} ® 2 7 ® 3 7} @ 4 7} ® 5 7}




14. V28V231=AV33, 4V3= VB A o, B-A 9] g& Fstofeh

Ll e:B-a=



15
. 2
\/§x5\/_+£ S
%Eﬁ]ﬂ'ﬁ}tﬂ?



6V3 20
16. — =aV6,—— =bp\V5 & W, V-ab 9] 327
NG a6 , Vi V5 &, V-ab 9

<&

@ @ V2 ® 2 @ 242 B 42



"

210
V6 VI8
oot

)

5

(Viz-3) ©

14247t A ), f2% a9



18. —2<x<39W, /x+2?2- /(x-3)%+213-x = 3] 5}
=},

B
=



19. a=(V2+ V3),b=(V2-V3) & o, a® - b* 9 327

D 243 @ 46 B 443 @ 246 ® 10



20.

1
T BT

ol En= oa]5lsld, Va - ‘/_ ‘/_

a+b+c+do #& st

S ER
c

of. of o,



